
RSBP spol. s r.o., Pikartská 1337/7, 716 00 Ostrava, Czech Republic
phone: +420 596 252 170, e-mail: rsbp@rsbp.cz, www.rsbp.cz/en
VAT: CZ45196508

DATASHEET

DS_VENT-PRO-F_02-2024_EN_Rev1
Page: 1/3

It is a safety device designed to relieve and release an 
explosion that might occur inside the protected equipment, 
where there is an environment with a risk of explosion. Under 
normal operating conditions, the relief area on the protected 
equipment is covered by VENT PRO F. If the pstat  is exceeded 
during an explosion inside the equipment, VENT PRO F will 
open, thus releasing the pressure from the jeopardized area. 
The equipment will be exposed to a pressure lower than its 
pressure resistance. 
 
This data sheet describes the technical parameters 
of VENT  PRO  F. These VENT PRO have a single-layer 
construction and are flat. They are manufactured in a 
rectangular design and they are in accordance with EN 14797 
and European Directive 2014/34/EU.

VENT PRO F - EXPLOSION VENTING DEVICE

MATERIAL DESIGN

VENT PRO F stainless steel

Sealing EPDM (alt. exp. silicone)

VENT PRO F CLASSIFICATION

Equipment group II

Explosive atmosphere D

Equipment category, indoor/outdoor 1/2G, 1/2D

Operating temperature -40 °C to 100 °C

Storage temperature -10 °C to 40 °C

Standard static opening pressure* 10 kPa ± 15 %

* Can also be supplied with a different static opening pressure

OPTIONAL ACCESSORIES

Opening indicator cable (G1), magnetic (G2), additional (G3) or induction (G4)

Intrinsically safe relay it is used to create the interface between the safe and dangerous zone

Thermal insulation synthetic rubber-based foam

Fasteners screws - (strength 8.8 or A2-70), nuts ISO 4032, washers ISO 7089
(all in galvanized finish or stainless-steel design)



DATASHEET VENT PRO F - EXPLOSION VENTING DEVICE

DS_VENT-PRO-F_02-2024_EN_Rev1
Page: 2/3RSBP spol. s r.o., Pikartská 1337/7, 716 00 Ostrava, Czech Republic

phone: +420 596 252 170, e-mail: rsbp@rsbp.cz, www.rsbp.cz/en
VAT: CZ45196508

DIMENSIONAL DIAGRAM

INSTALLATION VARIANTS

1)  �For the installation of VENT PRO F, the flange of the 
protected equipment must meet the requirements of 
standard EN ISO 13920-BE and must be sufficiently rigid. 
In case of mounting on insufficiently rigid equipment, 
it is necessary to provide the flange with additional 
reinforcement.
The diameters of the holes in the flange of the protected 
device for M10 screws are Ø12 mm, for M8 screws are Ø10 
mm (EN 20273).

2) ��Material - galvanized steel or stainless steel (screws 
strength 8.8 or A2-70).

3) �Number according to technical parameters table.

Position Components Quantity

VENT PRO F 1

opening indicator plate VENT PRO 1

 protected equipment1) 1

nut 2) see 3)

 washer 2) see 3)

screw 2) see 3)

Installing with bolts Installing with welded screws

Max. 5 mm

K x Ø L1 

K x Ø L2 M

FE E

J

D

A
B

CI
B

Detail



DATASHEET VENT PRO F - EXPLOSION VENTING DEVICE

DS_VENT-PRO-F_02-2024_EN_Rev1
Page: 3/3RSBP spol. s r.o., Pikartská 1337/7, 716 00 Ostrava, Czech Republic

phone: +420 596 252 170, e-mail: rsbp@rsbp.cz, www.rsbp.cz/en
VAT: CZ45196508

1) Contact the manufacturer for more information and another dimensions.
Use screws (ISO 4017), flat washers (ISO 7089) and nuts (ISO 4032) to secure the VENT PRO F. 
Comply with a bolt torque of 15 Nm (M8) and of 21 Nm (M10).
The diameters of the holes in the flange of the protected device for M10 screws are Ø12 mm, for M8 screws are Ø10 mm (EN 20273).
The values of maximum vacuum are for VENT PRO F with a static opening pressure of 10 kPa.

TECHNICAL PARAMETERS

D
im

en
si

on
s

Ve
nt

 a
re

a 
[m

2 ]

H
ol

e
di

m
en

si
on

in
 p

ro
te

ct
ed

eq
ui

pm
en

H
 x

 G
[m

m
]

O
ut

er
di

am
et

er
 

I x
 J

 
[m

m
]

A 
 

[m
m

]
B

 
[m

m
]

C 
 [m

m
]

D
  

[m
m

]
E 

 [m
m

]

F 
 [m

m
]

Sc
re

w
s 

/ H
ol

es
 in

 th
e 

VE
N

T 
PR

O
M

  
[m

m
]

M
ax

.
va

cu
um

[b
ar

]
N

um
be

r
of

 h
ol

es
Sp

ac
in

g
N

um
be

r
of

 h
ol

es
Sp

ac
in

g
Sc

re
w

si
ze

K
Ø

L1
[m

m
]

Ø
L2

[m
m

]

17
0x

47
0

0.
08

17
0x

47
0

25
0x

55
0

15
.0

70
.0

2
80

.0
15

.0
11

0.
0

4
10

0.
0

M
10

16
12

22
27

5.
0

-0
.0

5

22
0x

54
0

0.
12

22
0x

54
0

30
8x

62
8

20
.0

90
.0

2
88

.0
20

.0
98

.0
5

98
.0

M
10

18
14

22
26

5.
0

22
9x

22
9

0.
05

21
9x

21
9

30
9x

30
9

14
.5

93
.0

2
94

.0
14

.5
93

.0
2

94
.0

M
10

12
12

21
15

4.
5

22
9x

30
5

0.
06

21
9x

29
5

30
9x

38
5

14
.5

93
.0

2
94

.0
14

.5
76

.0
3

10
2.

0
M

8
14

9
18

24
3.

5
24

1x
76

2
0.

18
24

1x
76

2
33

1x
85

2
20

.0
90

.0
2

11
1.

0
20

.0
11

6.
0

6
11

6.
0

M
10

20
14

22
31

0.
0

24
7x

61
0

0.
15

24
7x

61
0

32
7x

69
0

15
.0

98
.5

2
10

0.
0

15
.0

80
.0

6
10

0.
0

M
10

20
13

21
44

5.
0

26
0x

26
0

0.
07

26
0x

26
0

33
7x

33
7

14
.5

10
3.

0
2

10
2.

0
14

.5
10

3.
0

2
10

2.
0

M
10

12
12

21
16

8.
5

27
0x

45
8

0.
12

27
0x

45
8

35
0x

53
8

20
.0

10
0.

0
2

11
0.

0
20

.0
99

.0
4

10
0.

0
M

10
16

13
22

16
9.

0
30

0x
50

0
0.

15
30

0x
50

0
38

2x
58

9
16

.1
75

.0
3

10
0.

0
19

.4
75

.0
5

10
0.

0
M

10
20

14
22

34
4.

4
30

5x
45

7
0.

14
30

0x
45

1
39

0x
54

1
17

.0
76

.0
3

10
2.

0
17

.0
10

2.
0

4
10

1.
0

M
10

18
14

22
27

0.
5

35
0x

65
0

0.
23

35
0x

65
0

43
0x

73
0

15
.0

10
0.

0
3

10
0.

0
15

.0
10

0.
0

6
10

0.
0

M
10

22
12

21
36

5.
0

37
5x

65
5

0.
25

37
5x

65
5

46
0x

74
0

15
.0

14
0.

0
2

15
0.

0
15

.0
13

0.
0

4
15

0.
0

M
10

16
12

21
52

0.
0

41
0x

41
0

0.
17

41
0x

41
0

49
0x

49
0

20
.0

15
0.

0
2

15
0.

0
20

.0
15

0.
0

2
15

0.
0

M
8

12
9

18
24

5.
0

45
0x

80
0

0.
37

45
0x

80
0

55
0x

90
0

25
.0

12
5.

0
3

12
5.

0
25

.0
11

0.
0

6
12

6.
0

M
10

22
14

30
45

0.
0

45
7x

89
0

0.
39

44
7x

88
0

53
7x

97
0

15
.0

10
2.

0
4

10
1.

0
15

.0
11

4.
0

8
1)

M
10

28
14

22
48

5.
0

49
0x

59
0

0.
28

48
5x

58
5

57
3x

67
3

21
.5

90
.0

5
1)

21
.5

90
.0

6
90

.0
M

10
26

14
30

33
6.

5
50

0x
75

0
0.

38
50

0x
75

0
58

0x
83

0
17

.0
73

.0
5

10
0.

0
17

.0
98

.0
7

10
0.

0
M

10
28

14
22

46
5.

0
52

0x
72

0
0.

37
52

0x
72

0
60

0x
80

0
15

.0
85

.0
5

10
0.

0
15

.0
85

.0
7

10
0.

0
M

10
28

14
22

45
0.

0
57

8x
85

1 
U

S
0.

47
55

9x
84

5
64

4x
93

0
15

.9
96

.7
4

13
9.

7
15

.9
12

8.
3

6
12

8.
3

M
8

24
9

18
46

5.
0

57
8x

85
1

0.
49

57
8x

85
1

65
8x

93
1

22
.7

10
2.

3
5

10
2.

0
16

.1
99

.4
8

10
0.

0
M

10
30

14
22

46
5.

5
58

0x
41

0
0.

24
41

0x
58

0
50

0x
67

0
20

.0
92

.0
4

92
.0

20
.0

10
5.

0
5

10
5.

0
M

10
22

14
22

28
2.

5
58

6x
92

0
0.

53
58

1x
91

5
67

1x
10

05
17

.0
68

.0
6

10
0.

0
17

.0
85

.0
9

10
0.

0
M

10
34

14
22

45
2.

5
58

8x
90

8
0.

53
58

8x
90

8
68

0x
10

00
17

.0
16

1.
5

3
16

1.
5

17
.0

13
8.

0
6

13
8.

0
M

10
22

14
22

50
0.

0
60

0x
60

0
0.

35
59

0x
59

0
65

6x
65

6
58

.0
18

0.
0

2
18

0.
0

58
.0

18
0.

0
2

18
0.

0
M

8
16

9
18

32
8.

0
61

0x
47

0
0.

29
47

0x
61

0
55

0x
69

0
15

.0
10

5.
0

4
1)

15
.0

80
.0

6
10

0.
0

M
10

24
12

21
44

5.
0

61
0x

61
0

0.
37

61
0x

61
0

69
0x

69
0

15
.0

11
0.

0
5

11
0.

0
15

.0
11

0.
0

5
11

0.
0

M
8

24
9

18
40

0.
0

63
0x

31
0

0.
19

30
5x

62
5

38
5x

70
5

16
.0

11
8.

0
2

11
7.

0
16

.5
11

2.
0

5
11

2.
0

M
10

18
14

22
40

8.
5

68
5x

11
00

0.
76

68
5x

11
00

76
5x

11
78

15
.0

10
5.

0
6

10
5.

0
15

.0
11

4.
0

9
11

5.
0

M
10

34
14

21
64

6.
5

72
0x

10
20

0.
73

72
0x

10
20

80
0x

11
00

15
.0

85
.0

7
10

0.
0

15
.0

85
.0

10
10

0.
0

M
10

38
13

21
55

0.
0

78
2x

88
2

0.
69

78
2x

88
2

89
0x

99
0

19
.0

76
.0

8
10

0.
0

19
76

.0
9

10
0.

0
M

10
38

14
22

54
5.

5
80

0x
80

0
0.

62
79

0x
79

0
85

3x
85

3
56

.5
18

5.
0

3
18

5.
0

56
.5

18
5.

0
3

18
5.

0
M

8
20

9
18

51
9.

5
87

0x
91

0
0.

79
87

0x
91

0
96

0x
10

00
18

.0
77

.0
8

11
0.

0
18

.0
97

.0
8

11
0.

0
M

10
36

14
22

50
0.

0
91

5x
11

18
1.

02
91

5x
11

18
10

00
x1

20
3

17
.5

82
.5

9
10

0.
0

17
.5

11
1.

5
10

10
5.

0
M

10
42

14
22

60
1.

5
92

0x
92

0
0.

83
91

5x
91

5
10

05
x1

00
5

17
.5

85
.0

9
10

0.
0

17
.5

85
.0

9
10

0.
0

M
10

40
14

22
45

2.
5

92
0x

13
80

1.
27

92
0x

13
80

10
00

x1
46

0
15

.0
85

.0
9

10
0.

0
15

.0
11

5.
0

13
10

0.
0

M
10

48
14

21
78

0.
0

94
0x

14
40

1.
33

93
0x

14
30

10
02

x1
50

2
51

.0
15

0.
0

5
15

0.
0

51
.0

10
0.

0
9

15
0.

0
M

10
36

12
22

82
6.

0
98

0x
98

0
0.

96
98

0x
98

0
11

20
x1

12
0

25
.0

16
0.

0
6

15
0.

0
25

.0
16

0.
0

6
15

0.
0

M
10

28
14

22
56

0.
0

10
00

x1
00

0
0.

99
99

6x
99

6
10

64
x1

06
4

17
.5

14
7.

0
6

14
7.

0
17

.5
14

7.
0

6
14

7.
0

M
10

28
12

21
53

2.
0

10
00

x2
00

0
2.

00
10

00
x2

00
0

10
90

x2
09

0
18

.0
87

.0
9

11
0.

0
18

.0
92

.0
18

11
0.

0
M

10
58

14
22

11
55

.0
11

10
x1

46
0

1.
62

11
10

x1
46

0
11

92
x1

54
2

16
.0

80
.0

11
10

0.
0

16
.0

10
5.

0
14

10
0.

0
M

10
54

13
22

77
1.

0
11

18
x1

11
8

1.
25

11
18

x1
11

8
12

02
x1

20
2

16
.8

76
.2

11
10

1.
6

16
.8

76
.2

11
10

1.
6

M
10

48
14

22
65

1.
8

10
20

x1
02

0
1.

03
10

15
x1

01
5

11
06

x1
10

6
18

.0
10

7.
0

9
10

7.
0

18
.0

10
7.

0
9

10
7.

0
M

10
40

14
22

60
6.

5
11

30
x1

13
0

1.
28

11
30

x1
13

0
12

20
x1

22
0

20
.0

90
.0

11
10

0.
0

20
.0

90
.0

11
10

0.
0

M
10

48
14

22
66

0.
0


